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Berechnet diese Integrale: Losungen vorher umfalten

u=x+1

a) [(x+1)*dx F(x)=1(x+1)3+C
3

. u=3x—-1

x— 1

o) Je dx F(x) =3 e%1+C
u=2x

) [cos(2x) dx F(x) = SIn2x ¢

2

u=3x+1

d) J o X F(x) =In(|3x + 1)) + C
u=10x -3

e) [sin(10x —3) dx F(x) = —cos(10x — 3) % +C

Cors u=5x+5

x+ 1

f) fe dx F(x) :§_65x+5+C
u=2x%*+2

. Gi 2
g) J4x-sin(2x® +2) dx F(x) = —cos(Qx?+2)+C

h) [3x2-e* dx u=x’ 3
F(x)=e* +C
u=x°+2

, 5. 6
i) [ 2x°-cos(x®+2)dx F(x) = %-sin(xﬁ +2)+C

u=x*+1

. . cin(v2
i) [3x-sin(x?+1)dx Flx) = —gcos(xz +)+C
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